MARCH 15, 2023 HEARINGS

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

JOSHUA LYNCH, D/B/A LYNCH CONSTRUCTION

ORDER

The Committee voted unanimously that the license of JOSHUA LYNCH, d/b/a LYNCH CONSTRUCTION is revoked for misconduct. JOSHUA LYNCH, d/b/a LYNCH CONSTRUCTION shall pay a civil penalty of \$400 per day for 77 days of activity for a total of \$30,800 for violation of Section 17-25-507(b), performing work not within the classification held by the contractor. This penalty is payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JOSHUA LYNCH, d/b/a LYNCH CONSTRUCTION to prevent them from performing work in violation. JOSHUA LYNCH, d/b/a LYNCH CONSTRUCTION shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee. You have the right to appeal this decision pursuant to the provisions of Ark. Code Ann. 17-25-511.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

٧S

JOSHUA HUFFMAN, D/B/A ALL THINGS NEW DETAILING & HOME RENOVATIONS

ORDER

The Committee voted unanimously that JOSHUA HUFFMAN, d/b/a ALL THINGS NEW DETAILING & HOME RENOVATIONS shall pay a civil penalty of \$400 per day for 30 days of activity for a total of \$12,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JOSHUA HUFFMAN, d/b/a ALL THINGS NEW DETAILING & HOME RENOVATIONS to prevent them from performing work in violation. JOSHUA HUFFMAN, d/b/a ALL THINGS NEW DETAILING & HOME RENOVATIONS shall refrain from bidding on or performing work as a residential

contractor prior to being licensed with the Residential Contractors Committee. You have the right to appeal this decision pursuant to the provisions of Ark. Code Ann. 17-25-511.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

BLAKE ARNOLD, D/B/A ALL TRADES HOME REPAIR

ORDER

The Committee voted unanimously that BLAKE ARNOLD, d/b/a ALL TRADES HOME REPAIR shall pay a civil penalty of \$400 per day for 100 days of activity for a total of \$40,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against BLAKE ARNOLD, d/b/a ALL TRADES HOME REPAIR to prevent them from performing work in violation. BLAKE ARNOLD, d/b/a ALL TRADES HOME REPAIR shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee. You have the right to appeal this decision pursuant to the provisions of Ark. Code Ann. 17-25-511.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

TERRY HAMMETT, D/B/A BOBBITT CONSTRUCTION

ORDER

The Committee voted unanimously that TERRY HAMMETT, d/b/a BOBBITT CONSTRUCTION shall pay a civil penalty of \$400 per day for 7 days of activity for a total of \$2,800 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against TERRY HAMMETT, d/b/a BOBBITT CONSTRUCTION to prevent them from performing work in violation. TERRY HAMMETT, d/b/a BOBBITT CONSTRUCTION shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee. You have the right to appeal this decision pursuant to the provisions of Ark. Code Ann. 17-25-511.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

ANGELO BROCATO, D/B/A ANGELO BROCATO'S PAINTING & MAINTENANCE

ORDER

The Committee voted unanimously that the license of ANGELO BROCATO, d/b/a ANGELO BROCATO'S PAINTING & MAINTENANCE is revoked for misconduct and ANGELO BROCATO, d/b/a ANGELO BROCATO'S PAINTING & MAINTENANCE shall pay a civil penalty of \$400 per day for 80 days of activity for a total of \$32,000 for violation of Section 17-25-507(b) for performing work not within the classification held by the contractor. The penalty is payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ANGELO BROCATO, d/b/a ANGELO BROCATO'S PAINTING & MAINTENANCE to prevent them from performing work in violation. ANGELO BROCATO, d/b/a ANGELO BROCATO'S PAINTING & MAINTENANCE shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee. You have the right to appeal this decision pursuant to the provisions of Ark. Code Ann. 17-25-511.

SETTLEMENT AGREEMENTS

42311 J & D CONSTRUCTION Revoke the license for misconduct. Suspended if there are no further violations or meritorious complaints for 3 years, pay any judgment to homeowner

35674 DANA TURNAGE DBA - RAIN PROOF ROOFING AND RESTORATION \$800.00 reduced to \$400.00 if no further violations for 5 years, pay homeowner as agreed, pay any judgment, pay as agreed

52382 READY DECKS INC. \$2,000.00 reduced to \$200.00 if no further violations for 3 years, pay any judgment, pay as agreed

48681 TOMMY WALLACE LLC \$300.00

49164 WE DO CONCRETE COATINGS LLC \$200.00

51825 EUGENE CARTER III \$200.0052109 JOSH GOSNELL DBA - PINEY CREEK HOME SERVICES \$7,200.00 reduced to \$300.00 if no further violations for 3 years, pay any judgment, pay as agreed

52222 MICHAEL FLORY DBA - PERFECT TIMING PLUMBING HEATING & AIR \$16,000.00 reduced to \$600.00 if no further violations for 3 years, pay any judgment, pay as agreed

42720 DARRELL JONES DBA - A & D HOME IMPROVEMENT \$38,000.00 reduced to \$0 if no further violations or meritorious complaints within 3 years; pay any judgment; and surrender his license

31359 LYNDON STOLTZFUS DBA - PRO-CUT CONSTRUCTION \$18,000.00 reduced to \$1,000.00 if no further violations for 3 years, pay any judgment, pay penalty as agreed

34429 RUSSELL GODWIN \$6,000.00 reduced to \$300.00 if no further violations for 3 years, pay any judgment, pay as agreed